
INSTALLATION INSTRUCTIONS
2015-18 Jeep Renegade and Trailhawk

Rear Cam Can Bracket Set
KJ50020BK

Supplied Hardware:
1 - Driver Mounting Bracket

1 - Passenger Mounting Bracket
3 - 1/4" x 1" bolt

3 - 1/4" nylock nut
6 - 1/4" USS flat washer

6 - plastic clips
2 - 3" x 4" 3M Clear Bra strip
2 - Aluminum mounting shaft

2 - 1/2" x 1" bolt
2 - 1/2" washer
2 - dowel pin

2 - cam can retainer bag kit

When this product is installed it will rub the taillights when closing the rear hatch.

Depending on the Cam Cans used and the contents of each, the factory struts 
holding the rear door open may not sufficiently support it when installed.

Always remove Cam Cans before opening tailgate.

It is recommended that the installation be performed by a professional familiar with late model vehicles.

READ ALL INSTRUCTIONS BEFORE STARTING.

1. Install Cam Can hardware to the Renegade Cam Can mounting brackets. 
2. Open rear hatch door and remove inside plastic door panel. Note: some clips may break, replacement clips are supplied. Set the panel aside 

and remove any clips that were left in the door and re-insert back into the door panel.
3. Remove rear license plate.
4. Remove the 3 unused plastic clips from behind the license plate. Note: This is where the Cam Can mounts will bolt through.
5. Install 3M Clear Bra on the outsides of the hatch door where the Cam Can mounts will rest against the painted surface. Note: The mounts 

will sit right below the body line. Install the Clear Bra right below the body line, to the outside and wrap aprox ¼” around the edge. You 
may wish to temporarily install the mounts and mark where the Clear Bra will need to be placed to protect the paint.

6. Install Cam Can mounts. Use a wood block or something to prop the rear hatch open 5 or 6 inches. Hook the supplied passenger mount on 
the passenger door edge just below the body line and hold in place, now the drivers side and lay it on top of the passenger mount. Note: 
The 3 slotted holes of the passenger and driver mounts should line up with each other and the 3 square holes you removed the plastic clips 
from behind the license plate.

7. Temporarily start the license plate screws through the mounting brackets and into the rubberized license plate mounting clips, this will help 
hold things in place.

8. Preload the Cam Can mounts. Using a large flat screwdriver or other suitable tool, insert the tool through the top-center of the 3 slotted 
mounting holes and through the square hole in the center of the license plate area. Align the slotted holes with each other and centered 
over each square hole in the door. Note: Tighten the license plate screws to help hold the mounts “loaded”.

9. Insert, start and tighten one of the supplied ¼” bolts while insuring the mounts stay “loaded” with the alignment tool. Note: it is important 
that the mounts are “loaded” to keep them from slipping off the door edge.

10. Install the remaining supplied ¼” hardware and tighten.
11. Remove the license plate screws and re-install the license plate.
12. Replace any broken clips in the door panel and re-install the door panel.
13. Clip your Cam Cans in place and show them off to your friends.



INSTALLATION INSTRUCTIONS

2015-16 Jeep Renegade and Trailhawk
Rear Cam Can Bracket Set

KJ50020BK

Supplied Hardware:
Driver Mounting Bracket

Passenger Mounting Bracket
3 - 1/4" x 1" bolt

3 - 1/4" nylock nut
6 - 1/4" USS flat washer

6 plastic clips
2 - 3" x 4" 3M Clear Bra strips

When this product is installed it will rub the taillights when closing the rear hatch.

Depending on the Cam Cans used and the contents of each, the factory struts 
holding the rear door open may not sufficiently support it when installed.

Always remove Cam Cans before opening tailgate.

It is recommended that this installation be performed by a professional familiar with late model vehicles. 

READ ALL INSTRUCTIONS BEFORE STARTING.

1. Install Cam Can hardware on to the Renegade Cam Can mounting brackets.
2. Open rear hatch door and remove the inside plastic door panel.  Note: Some clips may break.  Replacement clips are supplied.  Set the

panel aside and remove any clips that were left in the door and re-insert them back into the door panel.
3. Remove the rear license plate.
4. Remove the 3 unused plastic clips from behind the license plate.  Note: This is where the Cam Can mounts will bolt through.
5. Install 3M Clear Bra strips on the outsides of the hatch door where the Cam Can mounts will rest against the painted surface.  Note: The

mounts will sit right below the body line.  Install the Clear Bra strips right below the body line, to the outside, and wrap approximately ¼”
around the edge.  You may wish to temporarily install the mounts and mark where the Clear Bra will need to be placed to protect the paint.

6. Install the Cam Can mounts.  Use a wood block or something to prop the rear hatch open 5 or 6 inches.  Hook the supplied passenger mount
on the passenger door edge just below the body line and hold in place.  Now hook the driver side and lay it on top of the passenger mount.
Note: The 3 slotted holes of the passenger and driver mounts should line up with each other and the 3 square holes where you removed the
plastic clips from behind the license plate.

7. Temporarily start the license plate screws through the mounting brackets and into the rubberized license plate mounting clips.  This will help
hold things in place.

8. Preload the Cam Can mounts.  Using a large flat screwdriver or other suitable tool, insert the tool through the top center of the 3 slotted
mounting holes and through the square hole in the center of the license plate area.  Align the slotted holes with each other and centered
over each square hole in the door.  Note: Tighten the license plate screws to help hold the mounts “loaded”.

9. Insert, start, and tighten one of the supplied ¼” bolts while ensuring the mounts stay “loaded” with the alignment tool.  Note: It is
important that the mounts are “loaded” to keep them from slipping off the door edge.

10. Install the remaining supplied ¼” hardware and tighten.
11. Remove the license plate screws and re-install the license plate.
12. Replace any broken clips in the door panel and re-install the door panel.
13. Clip your Cam Cans in place and show them off to your friends.

www.DaystarWeb.com
Tech Support Contact Info
Tech@DaystarWeb.com

Phone: 623.907.0081
Fax 623.907.0088

841 S 71st Ave
Phoenix AZ 85043

Instruction Sheet P21864
©2016 Daystar Products International, Inc.

Revision 1
Revision: Date 10-10-17
Revised by: 




